= AH O
N = 0 &8 AF S & Al A
20108 20d A2 20IISELESH &M
A FOIMET S
H: JVIZMESEH(ASX /I ZMESE)
@2 o230 XN (d230II25E3AH) (&2 &
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
FOIMET 1,635,500 1,593,958 41,542
= 253,863
o= 79,466
Al 1,302, 171
2O ZMED I (AISSX /I ZME D) 1,621,600 1,571,758 49,842
= 253,863
< 79,466
Al 1,288,271
9230 XNKA(AZSZSIIZELEIIAH) 1,621,600 1,571,758 49,842
= 253,863
< 79,466
Al 1,288,271
o230 s3220HIS X 317,329 306,942 10,387
=2 253,863
[==4 63,466
101 Q1A H] 52,440 50,908 1,532
= 41,952
== 10,488
03 2IHLZ2ZXE 38,676 0 38,676
022202 Z2IAIH (7. 188t
38,676,000 38,676
=2 30,941
= 7,735
04 JIZHMIZ22XEE 4 13,764 50,908 A37,144
O g3+t 2 ALY 13,764,000 13,764
= 11,011
< 2,753
307 QI2t0IA 264,889 256,034 8,855
= 211,911
< 52,978
01 2L =2H| 264,889 256,034 8,855
O8220itl 264,889,000 264,889
= 211,91
< 52,978
o320 A 16,000 16,000 0
== 16,000
201 LBt AH| 8,000 8,000 0
< 8,000
01 AF222|H] 8,000 8,000 0
02z20 A 8,000,000 8,000
< 8,000
202 OiH| 8,000 8,000 0
< 8,000
01 2 e Y| 8,000 8,000 0
(@==10: I PSLi]] 8,000,000 8,000
< 8,000




SAM: FoMEX R

H: 20| ZMESE(AISEX /I ZHESE)

@ 92230 N (Adsz30II=25<3H) (¢t &
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
== DNE=] 1,288,271 1,248,816 39,455

308 XMXIEHHSOIH 1,288,271 1,248,816 39,455

05 XAXEMAREESS 1,288,271 1,248,816 39,455
o025 &=Hl AMBIEEZ2 1,288,271,000& 1,288,271

MEES(FOUMEX D) (ASEX /I ZHESEF) 13,900 22,200 A8,300

BEIE(S23HII2ELIA) 13,900 22,200 A8,300

L=PSPNES 13,900 22,200 A8,300

802 BHEtZ2D|Et 13,900 22,200 A8,300

01 202303 2,000 1,000 1,000
O=108x2 btetz 2,000,000& 2,000

02 Al - EHIEXZ=2BtE 2 1,000 500 500
OZHIBEXZ btEt= 1,000,000& 1,000

03 Ud=2s 10,900 20,700 A9,800
OO0 K== B 900, 000& 900

09220l RIS B#43 vru

10,000,000 10,000




